
 

 
  

4.  (6 + 4x)e
x
 – e

x
(5x + 7) = 0    (6 + 4x)e

x
 = e

x
(5x + 7) divide both sides by e

x
. 

 6 + 4x = 5x + 7    ‒x = 1    x = ‒1 

5. 

6. 

7. 

9. 8.  𝑦 = 𝑙𝑛  
𝑥

7−4𝑥3
 = ln 𝑥 − ln 7 − 4𝑥3 → 𝑦′ = 

1

𝑥
− 

−12𝑥2

7−4𝑥3
= 

1

𝑥
+ 

12𝑥2

7−4𝑥3
 

10. 

11. 

12. 

9. 



  
13. 

14. 

15. 

16. 

17. 

18. 

19. 

  
𝑥3

𝑥
− 
2𝑥2

𝑥
+
3𝑥

𝑥
−
7

𝑥
 𝑑𝑥 =   𝑥2 𝑑𝑥 − 2 𝑥 𝑑𝑥 +  3𝑑𝑥 −  7 

1

𝑥
𝑑𝑥 

= 
𝑥3

3
− 2

𝑥2

3
+ 3𝑥 − 7𝑙𝑛 𝑥 + 𝐶 =  

1

3
𝑥3 − 𝑥2 + 3𝑥 − 7𝑙𝑛 𝑥 + 𝐶  

1

3 − 0
  
1

2
 𝑒𝑥

2
  
3

0
=  

1

3
 
1

2
 𝑒3

2
− 𝑒0

2
   

= 
1

6
 𝑒9 − 1  

Apply the limits, the average value adjustment, 
and finish the problem. 

‒3x 



 
20. 

21. 

22. 

23. 


